
The height of a room would most likely be 10 ___________.
  a. feet b. inches c. yards

Which letter on the shape is beside a right angle? _______

1

2
 of 20 = 

Write as a decimal: two and three-tenths =___________.

If the pattern continues, how many boxes 
  should be shaded in row D? ___________
  

(2 × 3) + (3 × 4) =

What is the area of the shape to the right? ___________  

In the chart to the right, the y numbers 
  are _______ times the x numbers.

49 51
          – 28 – 32

14 23
           × 5 × 7
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To build a school, it might take two ___________. 
  a. days b. weeks c. years

Which letter on the shape is beside an obtuse angle? _______

Which of the following is (are) equal to
1

2
?

  
  a. 5

10
b. 7

14
c. 10

25
d. 12

30

Write as a decimal: twenty-three hundredths =___________.

The library, post office, and gas station are all on Elm Street. The library is three 
  miles west of the post office. The gas station is six miles east of the post office. 
  How far apart are the library and gas station? ________________

Complete the pattern.  A12, B16, C20, ______, ______.

What is the area of a rectangle with a length of 9 feet and a width 
  of 7 feet? ___________

For Problems 8–9, use the bar graph to the right.

On what day of the week did Ron 
  bowl the best? ___________

On which two days of the week did Ron 
  have the same score?
  _________________  _________________

  11 + 43 =
26 + 19 =

  18 + 17 =
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